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= g & B &t E i = & b fE z B £ B 8
o ® ARE® (M) (M) (M) (ke)
=LZ\CA 41.2 JtiEE 41.1 1512 864 648 10
ZLZ\CA BRE 972 — 864 1 A M
IZALA 23.1 JtiEE 22.6 1512 — 1,296 10 Va9 L
IZALA f = 0.5 — 1,188 — 10 LL
ZIES5 42 BIR 4.2 2,592 — 2214 0] A 2M
EXER 31.7 E % 31.6 3,780 2,592 1,620 15 A L
HTE 2.3 BRE 1.1 2,160 — 1,944 4f A M
—EOH 8.6 ERE 4.1 1,836 1,728 1,728 4f A M
Fry 105.8 B E 88.2 1512 950 864 10 vay 8
Fry E X 12.2 1,080 918 864 10 Va9 8
IE5NAZES 1.3 N 0.1 — 5,400 — 51 Y19 L
= 8.1 JtiEE 42 3,564 — 3,402 5
Ch¥E 1.8 i B 1.1 3,888 — 3,240 3 L
125 2.3 ElG 1.1 4,590 4,050 3,780 5] vay
+)L)— 1.1 £ B 1.1 - 1,404 — 10 10
FRINGHR 2.0 N 1.0 — 92 — 0.1 vay M
LAX 50.0 E % 49.9 2,160 2,160 2,052 10 A LL
LA 12 [ 0.1 1,296 1,080 810 1 A L
FoTYA 1.0 BRE 0.4 2,376 2376 2,160 4f A L
=p5Y 31.2 BERE 1.0 1,080 — 864 5] A L
=S5l = I 11.1 2,808 2,160 1,728 5, B M
NESSED) 13.3 JtiEE 11.1 3,240 2,700 1,944 10 vay 6
7y 11.8 BRE 3.0 — 135 — 03] A L
Y = I 2.7 2,484 2,484 2,268 5/ A L
k2 60.2 X & 28.4 2,160 1512 1,404 4l A 24
=TS EES 22.8 2,376 1,296 1,296 4l vay M
El 12.2 X & 5.6 2,808 1,944 1,944 3l A M
==kThk EES 4.4 238 173 173 02| vay M
E—<> 10.1 X & 3.7 130 108 108 0.15 A M
E—<> BRE 2.6 4,320 - 3,780 10
E53ACL 44
T35 3.7 BRE 3.6 — 65 — 0.3
[ZA5Y 8.4 BRE 7.9 1,458 1,134 972 5/ A LL
SPVAITFA 0.2 =l 0.2 2,970 2,808 2,160 2 D M
MHALE 26 EEES 2.2 2,592 2,484 2,268 5 L
MHALE RS 2,592 2,484 2,484 5 M
[EhiLs 140.6 JtiEE 137.2 — 864 — 10
=L 0.2 BRE 0.1 5,400 3,240 2,160 5
hLE 47 JtiEE 47 — 4752 — 10 A L
f=Fh&E 81.6 JtiEE 81.3 2,808 2376 2,376 20 L
f=FhE JtiEE 972 — 756 10
f=Fh&E 5 B 0.2 - 1,728 - 10 vay LL
A1z 1.0 th E 0.8 - 378 — 1 4L
ELLVE=T 2.6 BERE 0.3 — 108 — 0.1 L
ELLV=IT E 15 1.4 108 — 86 01 M
ZDEET 5.8 E I 34 32 24 22 0.1 A
LHL 26 2 [F 24 97 65 59 0.2
ESES T 701.6
B=
= g fm B & E i = & hfE =7 & £ B 8
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BMAMAET 0.4
INGRH A 0.4 BRE - - - PR
LEY 3.1 F 2.0 7,020 4,860 4,860 17 140
INLUVT 3.5 = I 3.5 3,888 — 3,456 17
L7y 0.6 m72Y 0.6 5,184 4752 4,320 15 45
YATE 5.6
2hB 1.0 E % 1.0 - 6,264 — 10l vay 36
PEPE=IY 1.1 5 & 1.1 7,560 7,128 7,020 10
AL 1.0 5 & 1.0 8,640 — 8,100 10 40
HA%ZLE 6.2
=K 0.1 BE A 0.1 - 270 - 05| 7hya LL
2K 5.4 2 [ 1.6 — 6,264 — 10 D 3L
ZDHAL 0.7 B A 0.4 — 4320 — 10| 742 40
3HET 9.6
3% 9.5 E % 4.8 4,320 4,320 3,240 5 18
RO 0.1 & % 0.1 486 486 432 05| vay 4L
FTHHE 0.2
343 0.2 E e 0.2 - 594 — 06| Ma L
SESE 10.7
T59LT 0.1
Big 5.3 2 4.6 2,160 2,160 1,901 14| B 3L
EA—* 0.8 2 [ 0.5 1,944 — 1512 140 A 3L
A)—A 0.7 2 0.7 1512 — 1,210 140 A 5L
AOVEF 2.7
7—ILA 0.9
ZoMAOY 1.9
ERRYOY1s 12.2
ERRY 10.1 BRE 2.8 432 — 324 6] A S
ERAYAD | 0.7 - 6,458 — 18] A 4L
CfEETLH 2.1 BRE 1.7 3,348 3,240 2916 0] A L
INFF 18.6 EYEY 18.5 4514 2,948 2,938 15
INMFyTIL 3.4 EYEY 3.4 3,564 3,132 2916 10 8
FoA4T)LY 2.9 —T 2.9 6,156 — 4,050 75 4
BEHE 81.1




